24-8-2004

PARTS FOR MODELS:

NO.
JS150SV/(01-2)
JS150SV(03)
JS150SV/(05)
JS150SV/(05)
JS150SV(07)
JS150SV/(08)
JS150SV/(09)
JS150SV/(10)
JS150SV/(11)
JS150SV/(13)
JS150SV/(14)
JS150SV/(16)
JS150SV/(17)
JS150SV/(18)
JS150SV/(20)
JS150SV(21A)
JS150SV(23)
JS150SV(24)
JS150SV/(26)
JS150SV(27)
JS150SV/(28)
JS150SV(A)
JS150SV/(31)

JS150SV/(31E)
JS150SV/(34)

JS150SV/(38)

JS150SV/(07-1)
JS150SV/(08-1)
JS150SV/(16-1)
JS150SV/(26-1)
JS150SV/(27-1)

JS150SV/(50-01-2)

JS150SV/(50-08)
JS150SV/(50-16)
JS150SV/(50-21A)
JS150SV/(50-26)
JS150SV/(50-27)
JS150SV/(50-27A)
JS150SV/(50-31E)

Description
Bottom plate
Nut

Impeller
Impeller
Pump housing

Cover of oil chamber

Lip seal

Shaft sleeve
Plugs(08)
Mechanical seal
Bearing (bottom)
Motor casing
Rotor shaft
Stator

Bearing (up)

Motor bottom cover
Overload protector

Condenser
Upper cover
Cable gland
Rubber sleeve
Float switch
Cable

Earth
Handle
Discharge outlet
Oring
Packing
Oring
Packing
Packing
Screw
Screw
Screw
Screw
Nut
Screw
Screw
Screw

JS150SV

Code Number
101501-2
104003
1015V05
10150504
10100702
101008
101009
101510
104011
101013
101014
101516
101517
101518
101020
101021A
101023
101524
101026
101027
104028

104031

101031E
101034
101538
071004
101008-1
101016-1
101026-1
101027-1
104050-21A
101050-08
101050-21A
1040Vv50-07
101050-26
101050-27

101050-31E

JS150SVA

Code Number

101501-2
104003
1015V05
10150504
10100702
101008
101009
101510
104011
101013
101014
101516
101517
101518
101020
101021A
101023
101524
101026

104028
A0l
104031

101031E
101034
101538
071004
101008-1
101016-1
101026-1
101027-1
104050-21A
101050-08
101050-21A
1040V50-07
101050-26

101050-27A
101050-31E

Materials

FC 200
SUS 304
PC+FG
PC+FG
FC 200
FC 200
NBR
SUS 304
SUS 304
CAR

SUS 304
SUS 304

POM+FG

NYLON+FG
NYLON+FG
NBR

ABS

PP

NBR
NBR
NBR
NBR
NBR
SUS 304
SUS 304
SUS 304
SUS 304
cu

SUS 304
SUS 304
ST

Notes,Standards

M8
50HZ
60HZ

TC 12*26*7

¢ 8.5* ¢ 12*11L
M6*8

H-12

6201LLB

1t* ¢ 90*90
48*50

90*48*50
6200LLB

KLIXON 9700K
TEAPO 4.5UF/400V

KEY 250V,10A

KABELMETAL HO7RNF 3*1mm
ALFA HO7RNF 3*1mm
ALCATEL 3*1mm

11/4"
¢ 83.5*2

¢ 88*2.6

M5*15
M5*15
M5*20
M5*30
NB5
M5*18
M5*57
M4*6




